	01
	int i, cnt;

int main() {

  while (i < 10)

    i++, cnt++;

  printf("cnt = %d\n", cnt);

}
	

	02
	int main() {

  int i, cnt;

  while (i < 10)

    i++, cnt++;

  printf("cnt = %d\n", cnt);

}
	

	03
	int i, cnt;

int main() {

  while (i < 10);

    i++, cnt++;

  printf("cnt = %d\n", cnt);

}
	

	04
	int a = 3, b = 10;

a) printf("%d\n", a & b);

b) printf("%d\n", a | b);

c) printf("%d\n", a ^ b);

d) printf("%d\n", a && b);

e) printf("%d\n", a || b);

f) printf(“%d\n”, ~a & b);
	

	05
	a) printf("%d\n", 1 << 10);

b) printf("%d\n", 10 >> 2);

c) printf("%d\n", 1 << 31);

d) printf("%d\n", -1 << 31);
	

	06
	char s[20];

int a, b, c;

sprintf(s, "%d %d", 10, 20);

a) printf("%d\n", sscanf(s, "%*d %*d %*d"));

b) printf("%d\n", sscanf(s, "%d %d %d", &a, &b, &c));
	

	07
	int cnt = 0;

for (char i = 0; i < 10; i--)

  cnt++;

printf("%d\n", cnt);
	

	08


	char x = 0, y = 1;

int cnt = 0;

while (x < y)

  x++, y++, cnt++;

printf("%d\n", cnt);
	

	09
	int cnt = 0;

for (int i = 0; i < 2; i++)

  for (int j = 0; j < 3; j++)

    for (int k = 0; k < 5; k++)

      cnt++;

printf("%d\n", cnt);
	

	10


	printf("%d\n", 'a' + 'c' - 'b' - 'd');
	


